009

dd
wnipels
do/s6/6¢ 4u *dn
91/add/s9z1/1d0 4N “idn

Z "SAIIN

1L/80L “L/EOE ‘Z/E0E AU BYfRZP NYSION M BUlRYS N - BoIp BMOPNqaZId

nys.iop
M BU[RYS “INWBIUBIUPOMPO Z ZeiM 160Ip emopnqazid

BIIMOPOIM LCr-CV
9z BySmoyely 'In

29ImMo

PoIM eujwD

‘aumopng oMISMUOYANA | AlozpeN
WINDOLS, Z0IMayInzZel\ Zzsnlien

FANCADVIINNNOX AZNVHE ALMIrodd

8jZ0M-UAZI81ZPdY 0ZZ-LY ‘€2/L MOIBIUOI] “In ‘|d"lewb@ewbols zomanunzew w :lew ‘0z9 €€§ 709 19

@) m Py Py Py (72
[o% 3 O- N N ©
= N- D D )
8 @ S Q Q o
Q ] o > o] .
e < o ® ®
0. = s 2. o)
Q < s ]
n ) o @
< o pLa =]
x @ c
o
- =
o,
1
—
®
-
@
3
=3
2
0.000 - 387.549| D
2.240 N 0.001 387.483| 1
4.254 Gl 5 387.421| R
6.160 i 0.031 387.286 | ¢
»|2 &
a8 0.082 387.055 | ™
18:318 —<l8 : :
v
1
&
14.983 0.263 386.606 | »n
=
" o
18.670 L 0.254 386.486 | I
o N
N S
27.666 0.345 386.243
30.000 29.247 0.379 386.199 | P
S
N
=
35.546 0.366 386.190 |
N
S
39.577 0.350 386.190 | ©
41.786 0.340 386.189
50.000 0.374 386.116
60.000 0.344 386.098 | D
S
~
oo
N
n 7
68.024 é 0.318 386.085 | &
70.196 2 0.316 386.081| &
oo N
80.000 0.093 386.382
89.308 0.040 386.672
91.928 0.025 386.782
100.000 0.058 387.120
102.209 0.087 387.213
104.459 0.115 387.319
109.288 0.200 387.552
114.241 0.233 387.889 | _
115.832 0.233 388.017 | I
118.923 0.237 388.267 | 2
|w)
1l
(§)]
N
S
N
129.408 0.271 389.094
W
133.764 & 0.243 389.479
©
o
w
140.000 0.234 390.000
142.156 0.231 390.180
148.940 0.244 390.748
153.464 0.233 391.171
155.724 0.235 391.382
s
160.068 - 0.245 391.781| &
o
X
163.944 0.255 392.149 | &
1]
167.634 0.238 392491 2
170.000 0.246 392.664 | &
171.324 0.252 392.749
i
Il
3%
2|8
o
180.000 0.272 393.303
o
1l
o
185.665 0.286 393.663 §
188.188 0.309 393.803 | O
190.019 | 8
N
N
- N
ll‘
©
N
N
200.000 0.375 394.339
203.240 —203.240 0.349 394.486
205.917 0.312 394.607
207.859 0.276 394.696
210.183 0.308 394.719
—|7
i | M
NN
N -—
>|2
[ BN=]
[ RE=]
o
220.000 0.384 394.762
221.651 0.378 394.771
225.925 L 1225.925 0.337 394.795
234.981 0.331 394.678
240.000 0.311 394.622
-
1
'S
249.143 o 0.273 394.523
N
o
ll
o
N
W)
260.000 0.252 394.380 | 1
S
N
o
oo
267.738 0.239 394.276
270.000 970,817 0.234 394.247
276.565 0.220 394.162
280.000 0.226 394.105
-
1l
w
N
288.711 § 0.239 393.960
297.771 0.309 393.754
300.000 0.284 393.746
303.115 — 1303.344 0.268 393.719
307.171 0.339 393.597
18668 | _| 8:344 383368
nn
©|a
314560 | 8|9 0.351 393.510
w5
320.000 0.305 393.515| |
321.579 0.294 393.516 | ©
L 1323.207 T
X
W)
1l
w
S
329.878 0.256 393.506 | &
_:\l »
o
~N
335.735 0.218 393.509
340.400 340.454 0.220 393.480
[7,) = 3 5 — =
N g =3 33 § 5 U % 3 3| 58§
Ogxg o = = = ] = ° N oy
[ LR == ® s O 3 2 ) SS9 a
= 2§ No 2 B = S : z| 228
N ns =3 3 g — z z | &a8%<
1 Xla| O « =] = = o 30
@ 3 N7 o > © = @ oo
] =€ 58 s e s 2| 5§58
3 5| =9 2 o 2 S| 838
= 22 g = 3 2| =29
= = g [ = S 3o
. R S 2 2 Y
9] N- = g S &2
z S a ¢ BSS
e g < g §| g8
-5 2 e | §38
e g 2. 2 < g
& "l g
[=] =]
o pa
3 =k

y/uniog

00°08¢ 'O'd

00°00¥%

zy
wy
ApindAm = 7

£10'0= P

096°'L= L

000°0SL= ¥
9TY’'L8¢
00Z'¥

= 2y

gLL'0o= P
966'8 = L
000°0s¢= o
0498l = w)y

Aysdpim = 7

¥29°98¢

61S°0= P
¥06°¢Z = L
000°0SS= o

882°98¢ = Zy
Aysdpim = 7

826°L6 = W)

¥8L9=1

£200= P
000°000L= ¥

896°06¢ = 2¥
ov6'8YL = Wy
Arsdpim = 7

zy

069¢c= 1
000°0SC= ¥

LSLT6T

£200= P
Y29 L9l = W)

ApindAm = 3

Sv¥’0=P
gzc6’le= 1
000°0¥S= ¥
8LY'GEE = ZY
ApindAm = 3

6G8°L0C = W

L200= P
cIG L= 1
000°00GZ= ¥
8/8'¢6L = 2y
9900l = Wy
Apsdpim = 3

00°08¢
00°00%

IMODIAC0Yd VINIZOHVZ




